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HRS—2 BEMIERTILETSNAHERICHILZFE/) _ i} HEEE | FRUISEE
SEfRHOAE | BES | 169B1014 | Bk \ =5H-2 | FrEHh KMETSERTEE =
SERMO TinICHEET S ZER A
ﬁ,ﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{0.00 ~ 1.23 118.64| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.34 ~ 16.54 118.64| 3m%x#B 25 =l ~ - - =
s 1.00{1.23 ~ 9.02 100.00f Z=hkl4t |0.00 ~ 9.02| 2.19 11.70 s 1.00f 500 ~ 11.34 100.00f Zhl4t | 5.00 ~ 16.54| 2.19 11.70
9 100kN/m##8 %% 1.00{0.00 ~ 1.74 126.69| 3m%*x#B2 5% ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.54 ~ 16.80 126.69| 3m%x#B 25 =l ~ - - =
s 1.00{1.74 ~ 952 100.00f Zhki4t |0.00 ~ 9.52| 2.35 12.58 s 1.00f 5.00 ~ 10.54 100.00f Zhl4t+ | 5.00 ~ 16.80f 2.35 12.58
3 100kN/m##8 %% 1.00{0.00 ~ 3.13 149.95|3m%#% %] 0.00 ~ 1.90| 3.80 20.36| 100kN/m#%#8% % 1.00{ 10.93 ~ 54.67 149.95|3m%*#% %] 40.00 ~ 54.67| 3.80 20.36
s 1.00{ 3.13 ~ 10.92 100.00| Z#+#list 1190 ~ 10.92| 3.00 16.05 s 1.00f 5.00 ~ 10.93 100.00f Z=hl4t+ | 5.00 ~ 40.00f 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 3.26 152.17|3m%#%%| 0.00 ~ 1.12| 3.51 18.81| 100kN/m#%#B 2% 1.00{ 10.70 ~ 40.81 152.17| 3m%#% 5| 30.00 ~ 40.81| 3.51 18.81
s 1.00{3.26 ~ 11.04 100.00| #Hlist |1.12 ~ 11.04| 3.00 16.05 s 1.00f 5.00 ~ 10.70 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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